Intermediate Algebra — Chapter 1

Lesson 1

Name:

Graph the numbers on a number line. Then order the numbers from least to greatest.
1. 2,-3,’and O 2. -5,7and -8

e ~g— ettt
—4 -3 -2 -1 0 1 2 , -8 -4 0 a4 g
3 o9 —32,-95¢ 1

Tell whether each number in the list is a whole number, an integer, and/or a rational
number.

3 4
3. “‘19, E, 08, -3 4. 2-‘-53 _.g_, __053%
~\:_2’O‘: g/ Q| S - &Z
g -1 a
O B 3 '
-3 - X @ -0
]
5
For the given value of a, find -a and |a|.
5. A =10.2 6. A= -14 7.A=%-\
o= 1o G = (=14 o=y
la} = 1>a la} = 14 =1Y lal = 5

Identify the hypothesis and conclusion of the conditional statement. Tell whether the
statement isé::ue or false. If it is false, give a counterexample.
8. If a number is negative, then its opposite is positive.

(S zﬁ k)\_{ . o — e ——

9.If a nunﬁer is even, then its opposite is a whole number. . o
INUEARIN R

Evaluate the expression when x = -2.5.

10. «x 11, |x| + 3 12. |x| - 4

NG 25+ S-4
59 ’-/:5



Intermediate Algebra — Chapter 1
Lesson 2

Name:
Find the sum.

1'.' _8 + 9 : e mema—— e = e s .= -—— . .2.-_1—3-+ —(;»»4)— - B e e

\ 9

3. -b + (-11) 4. -6 + (-7)
A\ -3
. -15 + 6 6. -21 + 10

_,q __\\

22 4 {41 7l g3 L -2, 43

1% -30,43 - 13
o o o
Evaluate the expression for the given value of x.
9.6 +x+ (-11); x =8 10. -14 + x + 14; x =9
[ox3 -1 -1 Y 49+l -5t

(2] a9

11. 2.2 + x + (-3.4); x = -2.5

Q,,Q'“Q(g‘ge"#
—~ Oy 3“-?)»""

ERE

Solve the equation.

12. X + 15 + (-15) = 6 13. 6+ x+ (-3) = 0
X4+0D= 3+><:C§
=l -2 "
L [x=3 |



Intermediate Algebra — Chapter 1
Lesson 3

Name:
Find the product. .
T 10(=9) 2. “12(-3
5. -3.2(15)

4. 2.6(-8

7. -3(28)

By

Identify the property illustrated.

10. 5.6(-32) = -32(5.6)

Commudathve.

8. -2/3(-
14

11. 0(2.1) =

Zexo ’pYDClUc,‘i’

Evaluate the expression when x = -3 and y = 4.1.

13. X + 2y

14, Y - 4x

3. -11(7)

. -9. 5(__)

9. 4/5(-20)

e

12.-1(-1.5) = 1.5

—2+9 (W) 0 (- 2) 5‘,9(—5)——4 ]
~3+31d HL[J“\LLE\S —151 - ]
Eal .. | F-7)

16. xy - 10.1 17. 14.3 - xy 18. 3x - |yl
~3(4]) -10: | 14,3 — (-3 3(- 33 H ]

~19.3 - 1H. |
‘4, 3 11eh3 -q-%]

\&b(a?



Intermediate Algebra — Chapter 1

Lesson 4

Name:

Evaluate the expression

B R R e TUTTITTT T e gy iy 0
S H9-%
o\ 41
" T3T5 +1.2 £ 073 4.18+6+4 -3

5+4 3419

9) it

5.13-15:54+ 9 6.%-}32—5
13 -3+ 2.9 -5
RN 7,
9] [ﬁ
7.8(6-2)+ 4 8. 28 - 3(4 + 5)
R4 +H DB -3(9)
2044 F3-97
)
9.1.2 -5-6=3 10. (11 + 15) = 13
(0-3 A ~13

st 2]

Evaluate the expression.

. 11.3x*-5, whenx =5 12. 8m° + 6, when m = 3
3(5)' -5 83~
3(95)-S 3(a7) o
18775-% N =0

Ei



Intermediate Algebra — Chapter 1
Lesson 4
14. 5¢2- 2, whenc = 9

13. 200 - 3y?, wheny = 8
A0 - 3(3)? . 5(9°-9
503N -

TP Sted
S00-17 73 Hog -9
|03

15. 3 - 18+, when t = 1/3 16. =+ x,when x = 6
_________________ 31335 48 (,
3: 18(#) ©
3 Q Tt
17. 7(x + 5), when x = 10 18. = , whena =8
» ~ LH)

T(045)

19. Was the expression evaluated correctly using the order of operations? If not, find an

correct the error.
80 - 1/3(15)2 =80 -52 = 80 - 25 = 55
I

No | -
Fo-50s) = 80-4(495) = 80-75 7|5




Intermediate Algebra — Chapter 1

Lesson 5

Name:

Use the distributive pr'oper"ry to write an equivalent expression.

15 x+11) ' 2. 3(x-12) " 3. -4(x +8)
OX+5S -3l -4%-33

4. 9(2x + 1) 5. (x - 7)(-10) 6. (4x + 3)5

|8 x+9 —10x+710 DOxX+|S
7. x(4x - 1) 8. 2x(x - 1) 9. -x(bx + 2)
2 _ &
Hx 2% x A% 3x Sx -3y

Identify the like terms, coefficients and constant terms of the expression.

10. -8 + 2x + 5 + 11x 11, 4 + 1 -3x2+ 5
LT - -34S 5 ox+lIx LT—1+5° gy 94 -3
C,Oe Q%‘H COE_ Lfv"‘

Con- 8¢S Con- |+

12. 7y - 6 + 3y?> - 15 13. 3xy + 5 - 2xy + 10
LT—"y°43y%; Ao +-1S LT— Bxy 4-9xy ; 5410
Coe — 143 [..Lﬁ“""gq"a

Con- b+ -5 (on- 641D



Intermediate Algebra — Chapter 1

Lesson 5
Simplify the expression.
14, 6 + 10x + 3 15. 2(3x + 1) + 4x
—]D y +"ét"‘”“’"’ T T px+oH4y
|Ox+93
16. 6(5 - x) + 12x 17. 7(x - 1) - 5
T30 -lox +1AY IX-7-S
(ox+30 7%-1Q)
18. 8x + 3(2x - 1) 19. -2(x + 4) - 3
Bx+bx-3 ~Ax-¥-3
4x-3 ~ %~
20. 11x - (x + 7) 21. 9 - 2(x - 4)
% - x-7] G- D%+
10x-7) - X+l 7

22. 7x - 3(4 - 2x)
/X “f@“r'(lo)(

3%l




Intermediate Aigebra — Chapter 1

Lesson 6
Name:
Find the mul'hpllca’rlve inverse of ’rhe number.
,,_1_‘.___7,___ o T
v__j - g
Find the quotient. P
4. —32 + (=2) 5. —1I -=( E)
P -
b
;
(o
. 1
7. 17 "—'( Z'é')
o X
1= 3
e — 8
=
10. -3+ (~g)
-1, -1 - (@' 1
= : =
e 3
L / 2
|73 N

Find the mean of the numbers.

13. 1, -3, -10 14, _:15, 4, -22
|-3-1D -ta /( 15 +4-29 , -33
—Z D -4 35, -

9 |
— _ IfniiN
Simplify the expression.
16. —8x + 27 17, 1x =3
0 -5
3% +]

= x+3

15. -7.5, 3265

ThSa3(ay

1g. 12x —20



Intermediate Algebra — Chapter 1
Lesson 7

Name:

N - 2.. illf_z,?f - ,3.. .,'-._._ 4@0 B
*Ts —0
4. \/g35 5 6. +V160

Tell whether each number in the list is a real number, a rational number, an irrational
number, an integer, or a whole number. Then order the numbers from least to greatest.

7.—V18,32, -2,V9 8. V5, -6,2.5, —%

2 “3.
R--0t,, 33, -2,/9 ﬁz- IS, 2, S, 2/
?a:——ﬁa,g,@, 2,19 rf‘p‘_"_"):g,:cg“ﬁ

— . A< _gt—}
IN“""O!LD/'—% Iﬂﬂ (ﬂ)ck‘)/ z

N

Evaluate the expression for the given value of x.

9. 14 + Vx whenx = 16 10. Vx ~ 5.5 when x = 4
Y+ | Jo - 51§
4 4+ 9515
3] 35
Ho——9-Vawhena-—=-25 - 12— 2V —{-whena-=-100-
-9. Jz5 i -
Y a(10) - |

13. A local park is in the shape of a square and covers afi area of 3600 square feet. Find
the side length of the park.

@\37@0 LODF



Intermediate Algebra — Chapter 1
Lesson 8

Name:

Graph on the number line, and express in interval notation.

1. The set of all real numbers greater than or equal o -4.

—

et T

<= | | |
S~ | | |

_,L_{'

b

1

> ELF/M>

....2. The set of all real nhumbers greater than -2.

P | | |
~ 1 | | |

Pt é&,oo)

=1

3. The set of all real numbers less than 3.

4. The set of all real numbers less than or equal to 4

. S n;..?.;j |

(=2, 3)

<l |
L2 | |

I | _“_Jq I

-

V

5. The set of all real numbers between -4 and 3 including both -4 and 3.

|
|

— [-4,3)

6. The set of all real numbers between O and 2 excluding O and including 2.

‘-m'

s
~

| E— L

| il'f...__w_iﬁmﬂi:;;___,_;_.

O

L

S|

&

B
= (0,9]

7. The set of all real numbers between -2 and 1 including -2 and excluding 1.

—b [-9,1)



Intermediate Algebra — Chapter 2
Lesson 1

Name:
__Solve the equation. Check your solution. ‘.
1-513: —+4 @)’”’ = o)
(ADu-x = P‘f K Zi
- !.:}pj: 53
 3.3Kk+2k=60 | 4. -43:=12-6p + p
SY. e SH3ela-p \
EA=) -1 ] N« ,O
TR= @ - S_§ <Sp
L ,:S g
5.28 = 8b + 13b - 35 6. -11j- 6 + 3j = -30
AR =\ -3 _ _30
139 +35 8\_\ ‘tt + 5
(038 &\8 5= Y )
cQ\ T’é)- __"%' ;\_\) "3

Solve the equation. Check your solution.
7.12-53r + 2) = 17 _/——-! 8.3(x-2)+52-x) =16

2= (S c-10= {7 || N-b2 0 -Sx<l,

- =17 o B =Gx =\b

\Sr—lxg JQ j 4 o =Ny
- —ax =19 - L

-\S -J% -—; =)

10. 6(q 7) - 3(4 - q) 0

93=-1(v 4P 4(2v 9) )
4
3'—~v+~%+8v~3t/ %43 o 8 o
- 37 w20 Yo -84 =0
+29 33 1sSY 45Y
% -

35-Ja
2 ‘Q 57

:



Intermediate Algebra — Chapter 2
Lesson 1

Write and solve an equation to find the number.

1. ‘Seven plus the quotient of a number and 5 is -12.

7*‘( = ; ?
X=-7S
M*X - “M(s)

12. The difference of three times a number and half the number is 60.

fo))\-& =(0)

(ax— X=\A0
SX=[Q0

13. EBight times the difference of a number and 3 is 40.

B(x-3)=40
Ex-4=46
AR

1x :(_932

[,

f ’3?5 '3 ’r"/

—



Intermediate Algebra — Chapter 2
Lesson 2

Name:

Solve the equation. Check ‘your solution.

Y 51'+7 3t-9

2k - B =3k~

5.9k - 2) =3k + 4

QK -3 =3¢ + |
"3 413 3\;1?‘8

@

éx) = —-3(8x—4)

K== Mx+1Q
- ga-l—;h\/ T )

&07\ \O_

"7’
\ =
-

\QIN

Qb

2. 8u+3=2u-17
"8 -y 3
~\0Du=-AV
-\ -6

-a+4a 9=8a+6
‘lébfb
”30\ ~3< s
—19=5%
5 S

6. -2(x - 4) = 7(x - 4)

‘6’X+ ¥z Ix~33
‘k '7&*9

= 4

8. 8(3g + 2) - 3g = 3(5g - 4) - 2

oﬂl Hlo % Sj ~ o) -

\‘ ﬂsgﬁz



Intermediate Algebra — Chapter 2
Lesson 2
Solve the equation, if possible. Determine whether the equation has one solution, no

___iolt_lfionfmor infinitely many solutions. ‘ T A.
9.5(2f +3)= 25 - 1) 10. }(é—ﬁv) = -2(v-2)
|16Y ©9 =\0S -3 4 -Bv=-guv+y
-1a$ -1 oY ~Y v v -4
Yy =0
=

[

[v=0/
one 521

11. 3(k + 1) + 11k = 2(4 + 5k) + 3 12. -4(-m + 2) + 2m = -£(10 - 12m) - 3
_ \ S A R
Iy = N+ 1ok o -3 = (M-

-3 “lol -3 710k _ f
4= 2. Py

| A= |

onesol |



Intermediate Algebra — Chapter 2
Lesson 3

Name:

1.3y29x+24

3 3

Solve the literal equation for y.

3.3x+5=9- 4y

- -

Bx-4= -y
N9 79

Solve the literal equation for x.
7.6 = 4x + Bxy

45y 445y
nd

445y - -
/

9.556x+px1-5 Z::a_c%
2-2=RK(exp) (rp
crp Lp

4, -5x + Ty =8x+7

5% A1O)
y=13x+]
4%

6.10 - 2y = 4 + 6x
-0

~10 3
Q?Y%*:CgbeB
F=18-1x

8. W = 4ax - 9x

W= ACQQfQ\
-y " Ya-7

—~7

| A

10.t = 10 + 7x - qx| | |

-9 10 g @L
x(F2) | 79 \

140> | )
= —— | _——H—
e



Intermediate Algebra - Chapter 2

Lesson 3
11, ax - bx = k 12.P=gx +rx + s
_‘S .—%
? 5 X( 91
Al s
ESCHM
7+ X f
L A— i
__‘;__A,Ll”_.ul‘l_,_.-_ 4x - 3jx = ,wH 14. X - 8 + 3wx = v
- -

XE4=33= -l *(14305)="y2
~4-%3  -4-3 1t4 ) H—%w
— Al | x = V13
'r)( = / RelFe
LEE

15. Bescribe and correct the error in solving Ae equation for x.

>< k:u_r+b.1.+_-\ K CS\J)\“'@(*C! \4 d

/cz.\f(a+b/+@\ K- :M RN

* = arp OFY e
a+b+d

Solve the equation for the indicated variable.

16. Simple interest: I Me.f
L= ol

’P—(: PE _,.._‘:.-I.-:--o =
ptﬁ_ﬁﬁ
17. V\/ume of a box: JV =_lwh; Solve for w.

V.
\Y\Tﬂ \\\mjt&)

= e —

18. Her'ons formula: 25 = a + b + ¢; Solve for b.

1-C = \Q, o ?
19. Cc\aulombs Law: F=7 22 solve for k. \ é» — K

@fé\': Ki‘l@% (A\L\d > “Egla :—H%l B i
Fa°= Kq\q W
pom Q,



Intermediate Algebra — Chapter 2
Lesson 4

Name:

T L Wi6<e2 -y

5.p-(-3)> 10
3

43 >\0
P23

P>

7.3-11+1>-2

Dt
G

“RrAY D
X3 2

8.4<6a-4a-2

~

[

U L0~
49 19
Dt s
;‘ v
REas



Intermediate Algebra — Chapter 2
Lesson 4

Write the sentence as an inequality. Then solve the inequality.
9. A number plus 10 is less than 34.

A0 L34
-lo -

X LY

10. A number minus 8 is at least 14

- x-~3214
43 473

X2

11. The sum of a humber and 7 is less than 15,
/tx LS

X &R

12. Nine is less than or equal to the difference of a number and 1.
ERSH
+\ )
1O Lx

13. You order a new pair of running shoes from a website that offers free shipping on order of

$75 or more. Your shoes cost $69.95.
a. Write and solve an inequality that represents how much more you must spend to get

free shipping.
LA954x 277500 X2 505
L1.as -618S

b. The cost of shipping your shoes is $7.79. Would you purchase another item in order

to get free shipping? Explain. l ) J
3 & 0 long Q5 (ow
(15111205 Tgn& ﬁbmg Hurg irxeen

v

74 5505 d7H



Intermediate Algebra — Chapter 2
Lesson 5

Name:
Solve the inequality. Graph the solution.

T 1.56<8b : S

_ k/a% Lg((a\ (:5 = 53 L—3)
N> Vvt =9



Intermediate Algebra ~ Chapter 2
lesson &

1
1 _g ¢ 2, 12. -15 > —Ea
3 5

@L;_—itfﬂ (M 2e(-5)
Q20 -Ehae

13. You have $850 to buy new carpet for the game room. The dimensions of the game room are
20 feet by 12 feet. Write and solve an inequality that represents the costs per square foot
that you can pay for the new carpet. Specify the units of measure.

AD) L0

x+ L 350
| L




Intermediate Algebra — Chapter 2
Lesson 6

Name:

_Match the mequah‘ry with its  graph.

15(4-y)<25 A ——

&Dg\/L -5 -4 -3 -2 -1 9

30 ‘:]y ST @

2. 9k+5>14 | i | A

!
] 1 I I ~ I

sy

e

3.2(x - 7)<-8 C.

QK;'lq -1-|Ll -5 -4 -3 -2 -1
L
Solvefheim m
4.6<-5t-4 5. 2= +2<3
RA\Y 4y 4_2 -2
L5k 4- 5 )
L
k
6.5+ >2 7. %2 v7 <11
- T2 -5 09 -

8.4<-2(y+3) 9.24 3 6(w- 2)

Yy > -13

J,(lj - Qy’t((: -y?la_l (aw-na
IDL-ay 3,2 bW
= T2 - L

=27 o5
M web

[V, = .

Y



Intermediate Algebra — Chapter 2
Lesson 6

Solve the inequality.

10. -5n-45>7n+ 20
Iy o o a T

—\dn >y
o N

I(\ L-Q l

12. 10h-3h+ 6 > 11 + 7h
7\nm>\\+‘!h

14. 12(x - 2) > 3(4x - 8)

Q%9 X ; -
¢ TN -9y ¥ a4

11, 4k - 6<3k+k-1

L
-3\‘24(’10 ‘\é -r\g

LS

Yes
AR

13. 6(T 1)< 2(d + 12) 3
-\OL AL
Dd+b et

4d L30

, O
L 12
d-23

15. 6—d+4 >~2(as,'+12a
Uy Qd+aY
,ﬂaﬁq -2
O>0
Mo 5o




Intermediate Algebra — Chapter 2

Lesson 7

Name:
_ Write a compound inequality that is represented by the graph.

L e— s

[
-3 -2 -t 0 1 2 3 4 5 6 7

—QdEXL{,

B A e e L S R —" e
-3 -2 -1 0 1 2 3 4 §5 § 7
XL-| o XO4Y
3. Ot b
-3 -2 -1 0 1 2 3 4 5 § 7

XLO of X

Write the sentence as an inequality. Graph the inequality.
4. A number d is less than or equal to 2 and greater than or equal to -2.

<@

- &
“dLXEQ

5. A number m is no less than -1 or less than or equal to -16/3.

~ = G~
I - "

m2 -1 o, ME-ZF



Intermediate Algebra — Chapter 2
Lesson 7

Solve the inequality. Graph the inequality.
- 6.-2>10- ~3g2-8

.-Q) 10 ~ 38"’ :fgb

-10 -l©

> -2 13

8.-13>q+2 or Bg2-15

10. -6 < 3(by + 12) < 14

By
-, L3 (le-t\Q\L\L\
Tl b3yl

~\a L3uLd

quﬂLi

3. S

7.-4<2p+8<18
—
- LI3
’%} Lap-l% i,z
L2
~pLP LS

9.15<-v-8 or 3v+4:10
- a i
[SL'V'g 5\/4—.42_1(?
g7 —d =
a3>-v %*2

—=

- |
-J3LV V2

11.42 < 6(3 - k) or %(14k-8)310

-

t;gl;\\ﬁ'loK laq\z:z\)b
ThH
W LR t4+%
b - K2 4
SY> K <77
K>3



intermediate Algebra — Chapter 3
Lesson 1, Day 1

Name: Date

Determine whether the relation is a function. Explain.
1. (1, -2), (2, 1), (3. 6). (4, 13), (5, 22) 2. Input, ()utput ¥
— \ 7Y
) " .
Y duesn' Popeot @\; Weoeajrs

P

14
L " T

Vs
[~
.

3.

—
—

{ )

R

Input. x Output, v " | Input, x (1(.)( /l t]

e[| e
(

' " _ Gutputy
g Funchon
a“_;“: \I Ao Bpa /\)o—\ Q 'R\nc\—m
1A%~ p

X (epearts

.f X

e
\____/

Determine whether the graph represents a function. Explain.

S Funckon — f Not o Funch,
Dasses VLT ‘ Uoes 0o

. . pass VLT
2 & s x R

__ | 8. ‘
"HEA Nt o funchon * 17 Fanction

A Toes Nor AR /r\}}\sses

oz S VLT g I N N D VLT
2 \ ’ms j 2
TR )
0 L et




Intermediate Algebra — Chapter 3
Lesson 1, Day 2

Name: Date

Find the domain and range of the function represented by the graph.

1. 2- Y {\* =~
;}r D'=9-0,1,3 ;' 0204y
= L e \l- Q\Q\ "a 2 [2‘ 3
I ] 7 | 4%
j HEAREN
3. 4. v ! L
A 0! -ytytgy ;" . D9 LxLT]
T IZ‘Q';\{!:(,, . == (2" | Ly L&
2 .
-4 [-2 v | 3% d 4%!

5. The function y = 25x + 500 represents your monthly rent y (in dollars) when you pay x
days late.

a. Identify the independent and dependent variables.

_ -
10 X
b. The dOmaT is O 2, 3, 4, and 5. What is the range?

. 1, |
Clv]a [z |d]s
- J | -
S0 [95[550 [575 [] bas”
6. The function 1.5x + 0.5y = 12 represents the number of hardcover books x and
softcover books y you can buy at a used book sale.
a. Solve the equation for y. 9—&%—# - :'\{)\Sg—'x '*%Z—-
llle‘fOtsy-‘?‘ <
15 'S ¥ Y= 3x+oY

b. Make an input-output table to find the ordered pairs for the function (other side
of paper)
2 -vlo |

30 |anledla 1131




Intermediate Algebra — Chapter 3
Lesson 1, Day 2

c. Plot the ordered pairs in a coordinate plane (other side of paper)

N
;
|
! ¢



Intermediate Algebra — Chapter 3
Lesson 2, Day 1

Name:

Determine whether the graph represents a linear or nonlinear function.

1.

P e R PR SR SRS SH

I L
i1

g

‘-—':‘
& & |5

....~
i
oug]

-1 Nonlinear g

2. T %l Tk

LF 0] L
B NN,
_ 5‘“‘"!"' __;
SN Y
i S
ey L)
i ¥

A
—-

1 a L‘\ Neor - A L'\neqr

41 ;’li . o0 S 00 S 1
RN N ENE 1y 121y
NEREEER i z
7 T ,g'w X 73‘ P 1
?l Tﬂ_' b i ¥ P
HH Non 'y " T N
| T \
Ak Near™ T M hNary—
=771 T E E-!- e
S af 1 ?1 ﬁ' ST
: = NN
Ly e = - :

Determine whether the table represents a linear or nonlinear fucntion.

7.

Mttt e i
e . =

s
e SR

i5

W_mﬁ

[

e U

o “-‘2

‘ﬁww-u:i-
.
-
oy
o—

mege

8 L5 e e i s a1 g
- o N
P i . i i NE
5 2 E
L

- F -

I

B ]\\Dﬂ wneor

Ty
e 1 r i}
=
T
preisie ]

) AN A
4

I\\D(\ \Nea

‘ e I ; i -‘ B e -t § 10- ; g ; . . - e i
g - ; 4 1 ¥ 1% la X itk 3 L
i et S SO iwm e o et e T = et
i = H 2 H 3
Lp il ooz 7| PR RE- R T
ngl - ] . § ! ‘:1? % [ | .‘.L Hed %




Intermediate Algebra — Chapter 3
Lesson 2, Day 1

Determine whether the equation represents a linear or nonlinear function.

11,y = x% + 11 12y=7-3x
Nonhnear” Linear

13.y - V8 - x 14. Y = 4x(8 - x)
Mo hneoy NonVineo™

15. 2+ 3y =3x + 4 16. Y - x = 2x - 2/3y
Linea © Lineay

17. 18x - 2y = 26 18. 2x + 3x = 9xy

Lyngay Monlineay



Intermediate Algebra — Chapter 3
Lesson 2, Day 2

Name:

Date

Find the domain of the function represented by the graph. Determine whether the domain
is discrete or continuous.

1.

o ¥i

At

18

A

Y 4 8

12

16

Discrete

D:0£XET)

Conhnuous

A
-

Determine whether the domain is discrete or continuous. .

3. = 4.
input 3 4 6
Bags. x -
Output 5 .
Marbles, y il el B
A exree.
5. : 6.
input 30 6| 9
Time (hours), X i
Qutput sn | 2 3
Distance (miles), y 130 | 300 | 450
CoMhnuou 5

input
Years, x

Output

Height of tree (feet), y

6 9 fE

Corbiuou S

tnmfe
| Relay teams, x

t

0 |

Cutput
Athletes, y

L)

+ 8

acdrete

Describe and correct the error in the statement about 'rhe domain.

7.

X @

8.

A

Y

2

I
46 | &

Y

25isinthe domain.

D.- \|3\3M|§,\4 6

X

.

v 2 &

5 8x

The graph ends

atx=6,

so the domainis discrete.

Coptnuous



Intermediate Algebra — Chapter 3
Lesson 3
Name

Evaluate the function when x = -2, 0,
1. g(x) = 3x

YL\ = 3(a)

3.b(x_ =18 - 0.5x

0(-3) = 13- 0:S(-8)
=¥
=19

\OLD\ = |3 'thL‘)\
=|R-0

ols) - 132 0S5 Y ——

Y7 1g-as = (15,5

and 5.
2.r(x)=-x-7 L \ _,
r(-3\ = -(-3)-
w2 = -

=5
(o) = - ()

r(s)= -(s)-7
= -1
4 nx)=-1-x+4

2)= -\-(-a)1Y
‘r\(a\:_h:ﬁ)ﬂ

=5
n{o)y= -1-0+Y
=3

nis)= -\ -5+

Let ¢(t) be the number of customers in a restaurant t hours after 8 AM. Explain the

meaning of each statement.
5.¢(0)=0

AL R AM.thove were
O gustomers

7. ¢(n) = 29

At 0 nous poiseed 3AM,
Trere vere &9 augtomers

6. ¢(3) = ¢(8)

At AW, Yhere were,
3 Customers

8. c(13) < c(12)
ot 9Pm thoe were

‘%\J\LV O.&\‘Dme/S, TheN
o 3PN



Intermediate Algebra — Chapter 3

Lesson 3

Name

Find the value of x so that the function has the given value.

9. h(x) = -7x; h(x) = 63 10. 1(x) = 3x; t(x) = 24

(9'_3_ = "‘7)( P4U=3 ¥

-7 — = F

Q=X %=X

11 k(x) = 6x ~ 12; k(x) = 18 12. j(x) = ~Zx+ 7;j(x) = =5
!% = (QX;J‘% TS~ "%x_r_)
30=lgx ‘

— |
5=

Graph the linear function.

13. p(x) = 4x . 14 f()=-4+7x )\
|

As J

Vi 7




i
a
3
7
T
E
]
B
2
3
=

<4 =

=]

B

Date

~f| 0] =3[ =4 -3

T —

Y

-3
g 1

-1

<2

-3

-d| =

B| D -4 -5

-
-t

) R T R TS T

Intermediate Algebra — Chapter 3

Lesson 4

Name
Graph the linear equation.

l.y=2
BEE]




Intermediate Algebra — Chapter 3
Lesson 4
Find the x- and y-intercepts of the graph of the linear function.

5.3x+ 6y =24 - 6. -4x + 8y = -16
ek -t Xant w

Bx+el0) =Y 3(0\+ly =aY Yy +3()="Yo -tho 8y =~
3)(:@\"‘ (af“ —L‘x-,-»“‘, == “0
Y9/ =9 ¥= 9

7. 6x+9y_-18 : SX-U&/:A, '

Yk . : %zmi )
oxlo)=13 —w\ﬁY L ey B gy =Y
—lox=-X Qy--18 |

-x=Y By =
=9 I/ X=-4 ¥=5

Use intercepts to graph the linear equation. Label the points corresponding to the intercepts.

9.4x + 6y = 12 10. -2x + 6y = 12
Y.f Yf
I T 151\\2 —3:-3"_[5_% 9-3‘-*:#5-51-13113-50 ai.:‘l'r:—j':i
3 A )
X ETVET
Uy + U =19 4@\*&129 X)) -3l +ly 7\
4x=19 Y= -Qx=13 oy 9



Intermediate Algebra — Chapter 3
tesson 5, Day 1

Name: Date

Describe the slope of the line. Then find the slope.

1o Ay 2. 3.}’ ' ‘ /Jﬁ(
<—'3,11> , : @3%
lf‘!\ ? A
= _"", ) B )4

2 \“ﬁm% X = /2 4 | x
HETAEN L1 AG, =1
v(2,-2) " . AN
Neqcrhuﬁ S\ Wshve Slype

3 2 Q-
3 Ay 4. Ay
NS > I ANE
L 20\'&
| “[(2, =3) N
S = <
(=2, —3) - N .
le -1 | 1] 3 N4
| "y Ly [ 6. =D
No 9 Sipe.
’.3’(."33 - (-] C
> - g =O 30 - 4



Intermediate Algebra — Chapter 3
Lesson 5, Day 1

The points represented by the table lie on a line. Find the slope of the line.

x| -9 -5| -1 3 x| —1] 2 | 5| 8
v | —2 0 2 4 ¥y, | —6| —6|—-6| —6
a0 _ - _ \ ~L-b) _ O _
ST T “-a "3
7 ] 8.
x| 0| 0 | 0| O x| =4 | =3 =2 —1
v —4| 0 | 4 | 8 vl 2 | =5|-12/-19
"LI"D _ ——9__ &*L'Ig :l -
-0 7 O “Qa(3) =1 T ]

e el

9. The graph shows the distance y (in miles) that a bus travels in x hours. Find and interpret the

slope of the line.
BO-10_ GO _ ¢,

Bus Trip =
= -t
[ 150 .
é (2, 120) drivng (o0 mpN
'5 100 7
= i
:g 50 /L/(?, 60)
a o, / | "
¢ 1 2 3x
Time (hours)




Intermediate Algebra — Chapter 3
Lesson 5, Day 2

Name:

Graph the linear equation. Identify the x-intercept.
l.y=-x+7

P Y.
. 3 _

._.
[ =
Lal
s
A
o
-
(=]
.

T e ey e 17

bl

o e e i d 4 el

L

Ll

3
il

|
ol & 34

\

&
W H
|

3.y=2x

S

=

B E S S S AT

Date

2. y=%x+3

"_Tﬁ‘-s-?-ﬁé:-s T

[

WVt O =i o

7

e Jod bad T

be }

Sl St




Intermediate Algebra — Chapter 3

Lesson 5, Day 2

5.3x +y = -1
¥y
I
)
|__E?
7|
19
-3
3
N R D! N1 34:673m1nx
:3 \ -
3N
3
3 :
- TNY
Bx4y=-) v X-KY\)\."\'
- 3% 1'E’»t >
| = 3%
7. -y +5x =0
1(."
_ 90
g
1]
1
I
BE R EEEEER & 33 o] 79 U0 o
4 ﬁ_l
f_i
3
3
]-r
/
K
!

6. x+4y = 8
Y
S
i 1
7
[]
~ui 3
- = ﬂ
SNE |
= ! ~ |
Ei) -1 G| 3] = - 0] 3| 3] o "_,
o g
! :
T -3
= |
=3
» l
|’ -1
=
I

Y
! L
9 4
g
¥,
3
VB -
/ 1
- R EERERE TR T T TR T [
- X
/ 1
T
3
3
3

P
=R

: =3

-\{ = —ax '(ﬂ
f-arti



Intermediate Algebra — Chapter 3
Lesson 6

Name:

Write an equation in slope-intercept form of the line that passes through the given point and has
the given slope. :

1. 2,1 m=2 2.(3,5): m= -1
| = 33)+h 5= AR +h |

=4+ 953 |- /
o |23 ?’;\c‘)% )RR

-3=\

3.(7, -4): m = -6 4 (-8, -2 m=5
“4= L)+ by | ~% = —3(313;‘9
WO s Y [)=5038
33=10 ‘ ¥ =
5.(9,0): m= -3 6.(.2:m=4 :
0=9(3) +6 desd
O= ~d1+h / Y K o
@1 BV’

Q7= ’f_ 3a?)’

Write an Equation of the line in slope-intercept form.

I

1
<

7. ] - " _ -_Li - 8. A e .}g i b=
__1W gar %’5 529 4(-';;,'0) - -1 =S ,
Ty | = 30D TR 0=_-Li)§-b'\+b
I3 \‘-‘(@Ho , _SMO 1%

B {1, -3} "ko- 7 q:b
vl _:—5; Y f.—r——q——-»
=Qx-€ ==X~

9 iy L = 2. . -1 10 Ayl 11 _:_!- = —}'

Gl—u(,a\ -4 79 et 8,84 Z-#}HS
-6 A Y -
E O e Ly = -5 ()40 :2.2.(4,/13,6 - L;J ”(g_;b
CraSe | Y =31h » 7 1=
| =3 - P b .




Intermediate Algebra - Chapter 3

Lesson 7
Name:

Write an equation in point-slope form of the line that passes through the given point and has the

given slope.

1.2, 1):m=2

y-1=alx-2)

3.(7, -4): m = -6

Yt =—lo(x-7)

5.(9,0):; m=-3

N-0=-3(x-9)

Write an Equation of the line in point-slope form.

7. AY 4
! (3, 117
-1 | 1 V/3] 5x
=)
Wil
9' ng_
SX/EENN
(=2 12
| =
-6 |-4 |-2 | ¥x

L N
i
y-1 =alx-3)

or
y43=alx-+)
Y- 3

2.(3,5):m=-1

Y‘S:‘l (X'S)

4. (-8, -2): m=5

y+a= S{x+ 2)

6.(0,2. m=4

Y-a=4(x-0)

(-4, 0)

~AN]—3 2% y-o = —|()(-l’-{)

F) _5}

>




Intermediate Algebra — Chapter 3
Lesson 7

Write an equation in slope-intercept form of the line that passes through the given points by using
point-slope form first.

11. (7, 2), (2, 12) 12. (6, -2), (12, 1)
B2 _ 1o .. a-_ -5 .2
31 -5 ;)) bla ~ d
V & ‘&Cx -1 _‘,Q:éb("(p)
X.Hg Y—h): 3)‘—3
. - 12372727
Y '&"’"\)@ ) \ Ya éx—s'
L//"'"'__W |_— —
13. (6, -1), (3, -7) 14. (-2, 5), (-4, -5)
‘_\*_@ 250 SHs5) =18 g
- Zeia) 3
)H'\ - Q(_X—{,) 5 5( )
Y%\‘QX"YJ y _g= 5x+
-\ -~

Werite a linear function f with the given values.

17. £(2) = 2, f(1) = 1 (A1) 18. f(5) = 7: f(-2) = 0 (5\7) (-20)
= ), el =10e3) )
Y A=Y o 1_\__/_‘32\("’93"‘» \Y 7-\(><L::) y-O~ :
o N "'\LX’P 0\}(—o=\0<+33
= S )
V—“‘\ _*l )(::X-I'Q/
19. f(- 102) 4; f(-2) = 4 (—40 ) (2. 4\ 20. £(-9) = 10, f(-1) = -2 {-%19) (-1,-3)
jot(12) . 12
__'J,c)%:; =% ’O ch Q\ .ﬁ;é.'/_j)’ -3 = -% 3_- o
(= 0oV or [y=4 =000 0L o)) o ly3 Ben) )
| = . T
of y -4= O(X+9\) »%aJi(W) ﬁ;/:-eifmg
+:j Y"f = '§)<—§_i

| Y= 9 h =



Intermediate Algebra — Chapter 3
Lesson 8

Name: Date

Determine which of the lines, if any, are parallel.

1. Line a passes through (-1, -2) and (1,0)
Line b passes through (4, 2) and (2, -2)
Line ¢ passes through (0, 2) and (-1, 1)

3

e - | TFa ~
Bz_a«‘(:a),%:g A¥ C ore
o yoralle|
c: 2 -1 = |
O.y(;tl\ ]
B
2. Line a: 4y + x = 8 3. Linea:3y-x=6 9‘3 8%
Line b: 2y + x = 4 Line b: 3y = x + 18 C:%
Line c: 2y = -3x + 6 | (Linec: 3y -2x =9
A Wax=1 Teay=d G H=F3 0 3y- =9
4y ‘XX+‘?X &y:—‘x‘*"\a Y"%X"’L’ 31=I+Loa 3y = Ax+T
=7 = 3XY - = -
R A T AR NSl B T
ﬁ‘—l 6’, -é)' B 3\I=X“"l%
i V- 3+ AT B are

Nona_

Write an equation of the line that passes through the/given point and is parallel

prO\“ﬂ/\

the given line.

g\ (1,2):.y=-5x+4 5. (2, -5):_2%=‘3_>g+ 10
ope. -G = =
V—a:‘zSOH\ Y= 7S
-2 = -Sx+S Y45 = E(x2)

A Y427 &x-3

IY=5x+1/
LY""'#’F_} | =57

6. (-1,3)y=2x+2 7. (18,2) 3y-x=-=
y-3- a(x+\a\ Hyx=a va; 3 -l (z)
Y A7 IXEs = x-12 i

£ Jy=x4 4 YT+

o X4S ) N>%x-Y |
IS y=34 [Y>3579)



Intermediate Algebra — Chapter 3
Lesson 8

Determine which lines, if any, are parallel or perpendicular.

8. Line a passes through (-2, 1) and (0, 3)
Line b passes through (4, 1) and (6, 4)
Line ¢ passes through (1, 3) and (4, 1)

H"‘\:-%oz ;%’ Aong- m(&
\“.:.H-_'}-:;% 8—&’6 pQ(p

-5 )
9. Linea: 4x-3y=2 A- % C’ (] 10.Linea:y=6x-2n’(ol
Line bt y = £x+2 8?% 8 Lineb: 6¢=-x B "6

~ _Linec:4y+3x=4 Linec:y+6x=1c;-(0
TR etk W ey Tpupare
A o By 0P
A =B Coyalee) o None pare
e:y:5x+a \/; 'jxﬂ “bf -bK
? Y = -bx+
Write an equation of the line that passes through the given point and is perpendicular o the line

given.

11. (7, 10): y = 3x—9

-10 = Ql(x-1)
- = - |
Y _}ll% QX+ "J

2y = Ix-
]
Y= 3,
m=4--9




Intermediate Algebra — Chapter 3

Lesson 9
Name:
Tell whether the ordered pair is a solution of the inequality.
1. X+y<7; (2, 3) 2. X~-y<0; (5, 2)
A+3 L1 5- 8 O
5L £O
H>e5 O
3. 3x - by , -1) 4. -x - 6y > 12; (-8, 2)
3(=)- sc—n 9 “(-3)-6(3) > 13
-34523 B-13a> 13
223 B 2AL
5. -4x - :§?§>15 (-6, 3) No
-4(-6) -3(3) LIS
a4-ayL IS‘
OLIS s
Tell whether the ordered pair is a solution of the inequality whose graph is shown.
¥ 6. (0, -1) 7. (-1, 3)
TITEy es No
2 W
2 A7 71
%7/%04) 9. (0, 0)
(VO -

10 (3, 3) 11. (2, 1)
NS Tes

Graph the inequality.
12. X » -3

.....




Intermediate Algebra — Chapter 3

Lesson 9

Graph the inequality.

11.¥Y > -2x - 4

P R

-

- ,...1" ......

N

i
B

i . N
e ; 5
S %

RS-

e i

........

+ -




